Quiz 1 Review

24) |
Z-2s0 |
iz‘ ‘\j 152

VO x(t-45°)

a) V= 120/-45
L e )

- (R[4]) > 15(529) * 75(3)
Zo=b 183102 L 512862/~ 0¥
T- 120/4s° E_— 330/ 1404 A l;(t):d?(‘lss@w@,&l‘tos‘i)}q

l?.%zz-sqow —
VT [3=1116/5107 VA

9 2,:)202
Z2dT56) 12050 % Z,, = (sl /SIHO
I= 12044 | T-7684 L UTA
,q(nn[_/ 390 } D=2 1"'(7(,94)05@5—%34/7

E"" 922,08/ T4 VA

Homework Page 1



Quiz 1 Review

27)

fE- 071g
Y

PVE(P) = T=R ,1=-10W  T={2l|2A
TR

T=G2IR/-45513 A

U= (o) Trmals
Vo= 25609/203%" < 230/8
V<252.01+jl2.s6

Vs 252.423[}@21_1

VT & g-.\S/IﬂsSLq%.SIS"
PF=0.U2 (99

Homework Page 2



Quiz 1 Review

212)

[

1]

/‘\

CI‘ )

\_/"
Y

g‘—‘ll

i
Y

o0— |
S,=100 VA, PR=080bb lag

,mz_f : a]

S,=100/30" kVA
S~ 20/L8 iVA

St 5187 Sum BhbB3)0r Hor (182 LA

~—

S, = 1L+ IM282 WA
E; [T3344[H3.295” LA

A ’i=(§_=§=> T= B4/ 16105°A
v

T =100/20° A

T, 9/0A

Homework Page 3



